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Geometry Review Date

O Write the formula then determine each measurement indicated. Round your answers to the
' nearest tenth.
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Solve each triangle. Round your answers to the nearest tenth.
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Find each measurement indicated, Round your answers to&: nef.-/r/é tenth.
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Solve each triangle. Round your answers to the nearest tenth. H’ = 0'? /
13)
B M4m A
23m 22m
c
14)
) c
14 yd
30yd
B



Answers to Geometry Review

1) 25yd 2) 27m 3) 7yd 4) 46°

3) 27° 6) mzA=26°c=21km,a=16km

7 msB=389°, msA=44.1°, a=21 mi 8) 145m 9) 28 ft

10) 30° 11) 43.3° 12) 21.2°

13) msB=755.8°, msC=644° msA4 = 59.8° 14) meC=23°,mcA=123%b=20yd



